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4. A—FEH/ VARIRLEDEFEIZALV-HhE

BERELI-MMEDET

AIEEER (1.731)

e

" R RAEE | gs | mm | mamm
RifE g | (km) M (km)
CH | )

1 1989/11/02 03:25 143.053 | 39.858 0 7.1 258

2 1993/01/15 20:06 144.353 | 42.920 101 1.5 325

3 1993/07/12 22:17 139.180 | 42.782 35 7.8 201

4 1994/10/04 22:22 147.673 | 43.375 28 8.2 594

5 1994/12/28 21:19 143.745 | 40.430 0 1.6 267

6 1995/01/07 07:37 142.306 | 40.223 48 1.2 185

7 2003/05/26 18:24 141.651 38.821 72 7.1 305

8 2003/09/26 04:50 144079 | 41.779 45 8.0 266

9 2004/11/29 03:32 145.276 | 42.946 48 1.1 394

10 2005/08/16 11:46 142.278 | 38.150 42 7.2 391

11 2005/11/15 06:38 144.945 | 38.027 45 7.2 519

12 2008/09/11 09:20 144152 | 41.776 31 71 272

13 2011/03/11 14:46 142.861 | 38.104 24 9.0 413

14 2011/04/07 23:32 141.920 | 38.204 66 1.2 377

15 2013/10/26 02:10 144.569 | 37.196 56 71 573
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AlFC 8% (6.731)
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4. A—FEH/ VARIRLEDEFEIZALV-HhE

AlFEE% (7.731)

No.3 1993/07/12 22:17 M7.8
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4. A—FEH/ VARILILEEDOEEICH U = EERIEE 8% (9.731)
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